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② different situations :

a) canonical genomes : each gene appears
-

exactly once
cliche above)

2) singulars : ead gene appears
at most once

3) b¥zm : eas gene appears
the same number of
times in lad studied
genome

4) natwalgenomiss each gene may
appear any number
of times for not atall)
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- reconstruct phylogenies
- fi-d regions of co - occurring gems

( gem clusters)
- preprocessing of genome alignment
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o reversal (inversion) distance dp CAB) . . .
° transposition distance At CA, B) . . .
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a) for most distances

leg . dpcg , d peu , DAP s
- - - )

the median problem is NP
- hard

.

2) for Scf the
media problem

is polynomial.

Tod, conat adj acacias in Apac :
if any adjacency is conserved
2 or 3 times

,
then add it to Mj

otherwise not . Z


